B5 20 questions flip and Quiz / Keyword card sort
	1. Explain the term homeostasis.
	The regulation of the internal conditions of a cell or organism to maintain optimum conditions for function in response to internal and external changes.

	2. What 3 things do all automatic control systems include?
	Receptors, coordination centres, effectors.

	3. What signal travels along neurones to pass on information?
	Electrical impulse

	4. Write down the stages for a reflex arc.
	Stimulus, receptor, sensory neurone, relay neurone (CNS), motor neurone, effector, response. Students may refer to a synapse also.

	5. Do reflexes involve the conscious part of the brain?
	No – they are automatic.

	6. Which two parts make up the CNS?
	Brain and spinal cord.

	7. What is a hormone?
	A chemical messenger transported in the blood to a target organ where it produces an effect.

	8. Where are the adrenal glands located in the human body?
	Above/top of the kidneys.

	9. Which organ monitors and controls blood glucose levels?
	Pancreas

	10. If blood glucose levels become too high, how does the body respond?
	Pancreas releases insulin, causes glucose to move from the blood into the cells, in the liver and muscles excess glucose is converted to glycogen and stored.

	11. Which type of diabetes requires insulin injections and why?
	Type 1 – sufferers are unable to produce insulin in their pancreas.

	12. What is the major risk factor for type 2 diabetes?
	Obesity

	13. HT – How does the body respond when blood glucose concentration is too low?
	Pancreas releases glucagon, cause glycogen to be converted into glucose and released into the blood.

	14. HT – How does the body ensure that once blood glucose levels return to normal, they don’t become too high or too low due to hormones being released?
	There is a negative feedback cycle between glucagon and insulin.

	15. What is it called when a woman releases her egg?
	Ovulation.

	16. Which is the main male reproductive hormone and what does it do?
	Testosterone - stimulates the production of sperm.

	17. What does the release of FSH cause in the menstrual cycle?
	Maturation of an egg inside the ovary.

	18. HT – Which 4 hormones control the menstrual cycle?
	FHS, LH, Oestrogen and Progesterone.

	19. How do oral contraceptives prevent fertilisation?
	They contain hormones to inhibit FSH production so that no eggs mature.

	20. HT – What are the negative impacts of carrying out IVF?
	Very stressful, low success rates, multiple births.
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